novotechnik

Siedle Group

' B NOVOHALL
REERES
JEIERdzUAY

RFE-3200
%
(E2 MR LR

novo)
safety @

o IERERE/RIFIERR

« TEE7% 360°

s BN ER , BEVES

- BIRIPELS IP67, IP68, IP69K

o DIER12 i

« ToEEIR

« IRESBE-40 °C to +125 °C

o BRINUBIES

« BRES B TIEN AL

« WEMET EMCESK ; kgl interference fields according to
ISO 11452 and ECE directive

WL IEXMERFESK DIN EN ISO 13849
o EEAAEEESK I Bt AR B

RzF3
« BN TR (T ARZE, R RUATUR FOMRILATR)
< EFRE

PAMNERERD RIS RBIFERE. BT E 7HARNH , EXRHE. fRNREERTERS.
EREEHS,
WEBEZFEREIRKEAFAIE.
ERESREEEHN , UIFRESTSMERM TNA. FRigHREEINEENESHRERTEREBXEERIINA.

588

MR M5 BFRAIBERPBT GF30 , REFEN

s HfEM4x18 iE=184418 (E8%ER )

RERUB IR K 200 Ncm

BSERE 65TMQSHESL | AR! |, Tfitsl AMP-114-18063-126, Index Al (AMPHEL |, F=mR4wA51-967616-1)
S

RY SRRIE

HATIE 360° 4R

BE #1509




novotechnik

Siedle Group

I TRaFRtE 5 EE

1 TNaFRtEIEAR

DUEST I RS, TR

< TR T 256, ERRT10NTIER
« IR 0ZE

SRR SRR

R FE - 3 2 0 1

75l HURERE
3201: IFHENES

6 3 6

3

T{EEEUb
3: T{EEBEUb = 12/24 VDC
WES

4:0.5...4.5VDC
5:0.25...4.75 VDC

St

1: EF, IERSHEE
2: L7, RIS

A EFIEAHHE

HSER

5 1 - & 2 1

3: MATRMLRF: BERTRESHE M1 LR/ A2 TRIME S
4: RETRBHIES: BEZESHL W1 LH/HL2 TRIRREHE

521: AMP MQS 6 §H&sL, O

TiEfTIE
03: T{ERFE 0° ... 30° min.

06, 12, 18, 24, 36

36; T/ERE 0° .. 360° max.
AT R RS

(EFSimatE

6: BIEEE (1x Ub, 1x j8H)

7: EBRRTAEE (1x Ub, 2x i)
8: RRFAME (2x Ub, 2x i)

R EIEHE

=1

2x M4x18 jE=182211g




max. 59

9|
1
CO ~
- N
%
<
£ ol
1
Position marker
Z-RFC-P_ _
max. 41,5
32 0,15
8
N
g 1 2
] <
o i e
x x
q- ‘
NS/ ‘
wn
—] a
S BRE
x| g |°
gl ool
[aV] N
x|.S
NIE
2X 2 +0,15
2x 32 +0,1

=1

SRR ERIARICIERIFE AR |
BTSRRI,

novotechnik

Siedle Group

HIE

CAD &#}&3% www.novotechnik.de/
ch/download/cad-data/



novotechnik

Siedle Group

BAEH

BSENX RFE-32_ _-___-3__-521
EREH
BHES 0.25..475V
05..45V
i > 10 kQ
EEEEHE 1/2
2l BE (ERHESEHAEESTEEBRT )
Gl & 3.4 kHz
TIETRE 0..30° = 0... 360° 51015
TR < +0.5 %FS
DR 12 bits
AESH wE < £0.1°
wE FRE < £0.1°
RIS 360° 812 |, FRtE< 0.25°(AIERIHA B KEERIBEIET)
BEIRE 872 30 ... 170°: typ. +1.0 %FS, 872 > 180°: typ. +0.5 %FS
T{FEBEUb 12/24 VDC (8 ... 34 VDC)
SHIEBRIE BHEBEEL2 mA
HERP 60 VDC (10 min.)
MR P B (BIR&EAEE)
Shatsis B ( }YGNDFIXI TEERE)
H45FAH1(500 VDC) > 10 MQ
73
RATIEERE TRV
FiRzENEHR IEC 60068-2-6 20 g, 5 ... 2000 Hz, Amax = 0.75 mm
fuhEgHR IEC 60068-2-27 509, 6ms
FHiRE4% 1SO 20653 1P67 / IP68 / IP69K
TIERE -40 ... +125°C*
* RATIERERREUTIEREUD (S NBEMEE )
S FRRHVRE S
RERSMER ZPEFRIEE , ERTRSISO 13849IRLBXNA. ARBEENEHESLLUE (DCavy ... ) MIHiER e,

MTTF (IEC 60050)

447 £ (BiBE)

MTTFd (EN ISO 13849-1 , 894 F (H@EHE)
FTREER T )

MTTFd-IAIE https://www.novotechnik.de/ch/download/zertifikate/mttfd-zertifikate/
PRI REFHIS | FmEF RS
e EMC iR

ISO 10605 ESD ( Efh/B4 ) 8 kv /15kV

ISO 11452-2 SSEHAIRIRE 100 V/m

ISO 11452-5 SUESHABITAE | RS 200 V/m

CISPR 25 igg3HRtmgE Level 5

ISO 7637-2 Transient Emissions Level 3

ISO 7637-2 EBiREIkaNTR A& (1, 2a, 2b, 33, 3b, 4, 5) Level 4
1SO 7637-3 BB ELEXRRAE Level 4

EN 13309 EZFHIITE

HERUBRIRER

acc. to ECE-R10

I1SO 13766-1/-2 FESRAUMITE

FEEN

=i
i



novotechnik

Siedle Group

SHRNEREN
=5 Bl =L =L

BE5 _ BE5 _ RE5

BEE BOTUR TER
T{EEEEUb 1 BRI 1 ST 1 SR 1
1 SHip 2 i 2 SR 2
E5Ht 1 EHRD 4 SR 4 5 4
E55HH 2 - EHRD 3 SR 3
TAEEBFE Ub 2 - £t 6
fith 2 - - SR 5
AR &0 3, 180 5, $1H0 6 £HH 5, 510 6 5

m5



REERE

Voltage output: max. operating temperature
as a function of the supply voltage

== oad 2 10 kQ

123°C @ 12V /10 kQ ‘
111°C @ 24V /10 kQ

10 12 14 16 18 20 22 24 26 28 30 32 34
Supply voltage [V]

B

B

novotechnik

Siedle Group

ke

One-channel, rising cw

One-channel rising ccw

Signai Measuring range
Signal Measuring range - 2=360° - measuring range
2= 360" - measuring range
a2 a2
a2 a2
min.
Didanostc fange
Diagnostic range
) Conter .
o Conter 360" L o 39 Angle oW
B fobeg
Crossed output characteristics, ch. 1 rising cw On request: signal 2 = 0.5 x signal 1
Signal
“ Measuring range = 360" - measuring range
Signal Measuring range a=360° - measuring range
max.
N max
Signal 1
. anai <
AN w
a2 AN a2
a2 Signal 1
(AN
LN -
I /
i -
i
N I signal 2 / - //\ Signal 2 =
min > ! - _— % Signal 1 -
1 m | [ [
Disgpost ange
o Center o Age o Center 360 Angle g oy

fobe

B

On request: trapezoid output characteristic

Signal

Signal

On request: output characteristics with offset




novotechnik

Siedle Group

RIS HHR

Z-RFC-P23
. 12 EEMMZSEERRIR (KRR )
TR RS M | IBSREF M
@ HE PAG-GF
.\ RVFERAREERD: 3 mm
g i N - R ®£(1)
® N S 400056074 1
333 400056085 25
_.| S|E @
g e [ Marking
® M4
18
Z-RFC-P43
5 12 FCMASREIESEITERIR ( R EHTER )
S R SRS | S RAFFH
- R PA6-GF
& FFERARERD 3 mm
= 1 ThHes T N iR £(1™)
s \N S | 400105041 1
B %‘3 400105042 25
©|5 Z
_>I B|E?
g 28 \ Marking
@ M4 |
18
Z-RFC-P30
, 56 BL2M3xSIZteATIHEIERIR ( REHREC )
R PBT-GF
REFRAERRO+ 1.5 mm
PR £(1M)
400056086 1
400056087 25
$3.25 (2x)
Z-RFC-P31
56 BL2/ MM 3xBIZLRIIREIERLLR ( REIHRED )
,'.57 MR PBT-GF
< SYFRARERO: 3 mm
;Q ] 8g£()
- ,§ 400056088 1
s 400056089 25
1&
]
3,25 (2x) vz
A-A

n7



T

<
=

Markierung

marking

45

¢45

~ 0,2 Magnetschutz

protection of magnet

-
]PF‘ 2
= Markierung
marking
7 25 +1
(32)
~ 0,2 Magnetschutz
protection of magnet
— PN
[H’ = 2 77\
\ /) .
— | marking
5.8 25 11 SW 13
(308)
/_ |
HI> ; =i | "; }
=
¥ X \Markierung
7 25 : marking
: = SW16
(32)

novotechnik

Siedle Group

RIS HHR

Z-RFC-P22
E22N75AMAX20 IR RIIREIRE ( HFHAR
B, REHRED).

R E SR TFm.,

%153 PEIREILSE
FFRARERDE 4 mm

TERE -40 ... +125°C

FEERRS 8£((1)

400106735 1
400106736 25

Z-RFC-P18
IR (IEIRER ) M10 x 25 mm,
similar DIN 933

R PRI EE
RFRXERRDOE 3 mm
FEERimEg ®£(M)

400104756 1
400104757 25

Z-RFC-P19
IREIRIR (9EIRER ) M8 x 25 mm, similar
DIN 933/ISO 4017

R FEtREMLIE
RFRAEAROE 1.5 mm
FEERmS 8®2(M)

400104754 1
400104755 25

Z-RFC-P20

SERTBER M10 x 25 mm, similar DIN 933
%154 PEtREIEE
RVFERAREERD: 3 mm

FEmimRg ®2(M)
400104758 1
400104759 25



novotechnik

Siedle Group

RIS HHR

Z-RFC-PO3

04 8101 ERRERTETEFNSEMLE  RIFEINE
R, ARRNaRR T (530 , sheRgErEs
BAMERYi E , TYEREEZEMERR20% )
RVFRARRAERO £ 1.5 mm

PR £(N)

400005658 1

400056081 50

1
T
I
1
4 01
—— + —

Z-RFC-P04
5,5 101 14 0.1 EHREZRZECEFNSEMLE , SIFEIRE
HIE |, LASSAMBIRTIE (G0 | st
BRI E |, TAFRREZEDERE20% )
RFRXERRDOE 3 mm

FEERimEg ®2(M)

Nl® 400005659 1
400056082 50

45 +01




BURT(ERIIE[mm] -ERRRimLHE

novotechnik

Siedle Group

RIS AR

Z-RFC-P31 Z-RFC-P43
2..47 0..24

Z-RFC-P31 Z-RFC-P43

16..4.2 0..2

SIERMIIMIL ERE- SRR

Z-RFC-P03 Z-RFC-P04 Z-RFC-P18 Z-RFC-P19 Z-RFC-P20
04..19 2..47 0..4 0..18 2..47
BRTAEEIE[mm)] -TTREHE
Z-RFC-P03 Z-RFC-P04 Z-RFC-P18 Z-RFC-P19 Z-RFC-P20
0..15 16..42 0..35 0..13 16..42
HEHIRIRTS

TEMHRRZ RS [

SMUEMRE AEIRERH
THERERFIHRAYZ A RS
& | BRIERRIERSEET
Z:IE.IO

Z-RFC-P02 / P04 / P08
Z-RFC-P20 / P23 / P31

Z-RFC-P41/ P43 / P47 Z-RFC-P03 / P30

Z-RFC-P22

SIERMTIMIEERE- TTRIMLE

0.5 mm: £1.4°
1.0 mm: £3.7°
2.0 mm: -

1.0 mm: £0.8°
2.0 mm: +1.8°
4.0 mm: £5.4°

Z-RFC-P02 / P04 / P08
Z-RFC-P20 / P23 / P31

Z-RFC-PA1/ P43/ P47 Z-RFC-P03 / P30

Z-RFC-P22

0.5 mm: £2.5°
1.0 mm: £6.4°
2.0 mm: -

1.0 mm: £1.1°
2.0 mm: +2.4°
4.0 mm: £6.7°



novotechnik

Siedle Group

BtE MQS F5i&sk

MQS Micro Quadlok System

LA

o 1 MNMHESLEM , AMPF=R4RTS
1-967616-1

. 6/ iRt , EFR0.3 ... 0.5 mm2 (AWG
22), AMPF=R4RA3 : 963727-1

« 6 NMESENTH , AMPFERERES © 967067-2

FEERRS BSEX

400005666 EEM-33-34




novotechnik

Siedle Group

EHERESRES (L8) BIR

AT

R SR TR
i | FrIRIAER5885 | 22
&, A0l =

fkYm : 201114

Phone +86 21 58997738
Fax +86 21 58997737
info@novotechnik.cn
www.novotechnik.cn

OF=H0]

[=
© 2021-3-12

HMNAREIT RSP SE, ESERRN TIFEMERM TG | XS HETRRELNISP TERHMARERENRMN. ErREX e EE A5
BIRATEEZ WRBEAINT R | BRI SRR N ERMEMNE P RASRERRFE—ENRRYE. Bt , REEFWREITTEANATIIEESE. HREMEATER MR
TEIREOR | RS ATIEAN.



